





Republic of the Philippines CAMARINES NORTE STATE COLLEGE

F. Pimentel Avenue, Brgy. 2, Daet, Camarines Norte

OFFICE OF THE BAC CHAIRPERSON FOR GOODS AND SERVICES

July 26, 2021

ADDENDUM NO. 1 Series of 2021 SUPPLY AND DELIVERY OF IT EQUIPMENT AND SOFTWARE

This Addendum No. 1 for the project Supply and Delivery of IT Equipment and Software is being issued in accordance with Revised IRR of R.A. 9184 specifically Section 22.5.2 & 22.5.3

This is to inform the prospective bidders of the <u>herein attached corrected</u>

<u>Schedule of Requirements and Technical Specification</u> in the Bidding

Documents under Section VI – Schedule of Requirements and Section VII –

Technical Specifications.

This Addendum shall form integral part of the Bid documents.

ROSALIE A. ALMADRONES, Ph.D. BAC Chairperson for Goods and Services











MANAGEMENT INFORMATION SYSTEM

MODIFIED AND UPDATED SPECIFICATIONS FOR THE PROJECT SUPPLY AND DELIVERY OF IT EQUIPMENT AND SOFTWARE

NO.	NEW ITEM NO.		QTY	PRICE	TOTAL
1	1	External Hard Drive Storage: 1 TB USB: 3.0	4	5,200.00	20,800.00
55	2	External Hard Drive Storage: 4 TB USB 3.0	1	10,000.00	10,000.00
2	3	USB Flash Drive Storage: 64 GB	7	880	6,160.00
3	4	Powered Speaker Trolley Type	4	21,000.00	84,000.00
9, 10, 14, 25, 37, 52, 56	5	Office Laptop Computer Intel Core i5-1135G7, 8GB DDR4, 512GB PCIe NVMe M.2 SSD, 14 inches FHD display, NVIDIA GeForce MX450 2GB GDDR5, Windows 10 Home	24	50,625.00	1,215,000.00
4, 8, 12, 13, 23, 30, 38, 49, 50, 51	6	Office Desktop Computer AMD Ryzen 5 3400, AMD Vega 11 Graphics, 8GB DDR4 Memory, 512GB SSD Storage, 450-500w PSU, Licensed Windows 10 Home	46	43,648.00	2,007,808.00
5, 34, 42	7	Digital Single Lens Reflex (DSLR) Camera (Body and Lens) 24.1 MP Camera 4k Video recording Wifi Connectivity	4	66,000.00	264,000.00
		3x Optical Zoom Built-in Flash With 18-55 mm lens	11(44)		
6, 11, 20, 21	8	Multifunction Printer with ADF Inkjet Type Copy, Print, Scan and Fax Function With Auto Document Feeder (ADF)	20	17,050.00	341,000.00
7	9	Computer Monitor LED/LCD Monitor, 21.5 in	1	6,750.00	6,750.00
15, 22, 31	10	Multimedia Projector At least 3300 Lumens, DLP or LCD3	3	31,000.00	93,000.00
16	11	Voice Recorder Can record Mp3 format, can be connected via USB in a PC, at least 8 GB built in storage, with Zoom Microphone, Rechargeable via USB	3	20,000.00	60,000.00
17	12	Heavy Duty Paper Shredder Can shred up to 16 pages per pass Can shred thick papers and CDs/DVDs	2	30,000.00	60,000.00
18	13	Multi-sheet Flatbed Scanner Duty cycle up to 1,500 pages per day Scan speed up to 25ppm/10ipm (300 dpi)	2	40,000.00	80,000.00



24, 54	14	3-pass duplex ADF Internal Solid-State Drive	8	15,028.00	120,224.00
		512 GB, PCI-E	Ů	13,020.00	
26	15	Binding Machine -Max. Punch :20 sheets(80) Pvc 4 sheets -Max bind: 120 sheets (14.3mm wire ring) -Margin: 2.5/4.5/6.5mm -Paper size: F4,B4,A5, SHORT, A4, LONG	3	20,000.00	60,000.00
		ETC -Hole distance: 8.47mm -Hole size: O 4mm square -all selectable pins		je *	1 1
27	16	Uninterruptible Power Supply (UPS) At least 1,200 va	4	6,400.00	25,600.00
28	17	Automatic Voltage Regulator (AVR) 500 watts	1	440	440.00
29, 33, 40	18	High Performance Laptop Intel Core i7-10510U Processor (8M Cache, up to 4.90 GHz), 16GB DDR4, 1TB PCIe Gen3 x4 SSD, 15.6 inches (16:9) LED-backlit FHD (1920x1080) 60Hz Anti-Glare	5	86,000.00	430,000.00
	The state of the s	Panel with wide 178 degree viewing angles, NVIDIA GeForce GTX 1650 with Max-Q Design 4GB GDDR5 VRAM, Windows 10			1
36	19	Professional Powered Subwoofer	1	40,000.00	40,000.00
41	20	Copy Stand non-reflective anodized aluminum tubing column with inch/cm scales, height adjustable camera arm, column rotatable 180 degree, approximately 2.7 in/7 cm adjustable horizontal distance of camera arm to column, 1/4" mounting threas, suitable for use with smaller SLR cameras,	2	25,000.00	50,000.00
39, 43, 46	21	digital cameras, CCD and CMOS camera Unbranded High-Performance Desktop Computer 1 16gb RAM, 4GB Graphics Card, 1TB HDD & 128 SSD, i7 9th Gen or Equivalent 600 Watts PSU true rated 21" Monitor, Keyboard+Mouse Windows 10 Home	6	77,000.00	462,000.00
44	22	Unbranded High-Performance Desktop Computer 2 64 GB Ram (2x32 GB Ram DDR4) 8GB Graphics Card 1TB HDD + 256 SSD i9 10th Gen or Equivalent 850 Watts PSU true rated 21" Monitor + Keyboard + Mouse + Windows 10 Home	1	100,000.00	100,000.00
47	23	Unbranded High-Performance Desktop Computer 3 64 GB Ram (2 x 32 GB Ram DDR4) 10GB Graphics Card 1TB HDD and 256 SSD i9 10th Gen or Equivalent 850 Watts PSU true rated	1	130,000.00	130,000.00

icant instruction 'SS' Cantinstuc
I Compor
I Compor
I Food
Autor

A CONTRACTOR OF THE PARTY OF TH					
10.		21" Monitor + Keyboard + Mouse +			
		Windows 10 Home			
48	24	Multifunction A3 Printer	1	50,000.00	50,000.00
		Can print A3 size Papers			
		Can Print, Copy, Scan and Fax		2.5	1
32	25	Office Productivity Software	4	14,999.00	59,996.00
		Microsoft Office Home & Business 2016 or			
45		latest			250,000,00
45	26	Building and Structural Design and	1	360,000.00	360,000.00
		Analysis Software			
		Midas Gen & Design+ 2021 Software			
		License with		10	
		with Technical Support and Annual Maintenance		* -	
35	27		1	300,000.00	300,000.00
33	21	Statistical Analysis Software Computer Software License (Statistical	' '	300,000.00	300,000.00
		Package for Social Science (SPSS)		·	
		(License) v.27 IBM			
57	28	Motorized Camera Video Slider	1	4,962.02	4,962.02
	20	Color: Black/Grey		1 1 1 1 1 2 1	
	1	Body Materia: Plastic			
	-	Camera Screw: 1/4" to 3/8" Convertible			100
		Screw			ogtha _a .
	1 6	Maximum Load Capacity: 3kg / 6.6 lbs			
		Speed: 2.4 cm/s 2.6cm/s 2.8cm/s			
		Battery Life: 6 hrs			
		Battery Full Charge Time: 3 hrs			
		Built-In battery: 3.7V 1800mAh			4
12.	3	Rechargeable Li-ion Battery (included)			1 4
1541		Remote Control Effective			1
		Distance: 6m/19.7 ft remote control batttery:			6 441 740 02
					6,441,740.02

Prepared by:

RAYMOND Q. ZARATAR Administrative Officer V Head